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( Major )
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( Political Theory )
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Time : 3 hours

lThe figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. (@) What is politics? Discuss the nature

and scope of political theory. 3+7=10
IS 27 THAST ©gq oo S AR
TS 1 |

Or/ o341

“Legitimacy is the recognition of the
right to govern.” Explain.

%Yl 9 TIPS 1”7 I A

10
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(2)

(bp) What do you mean by post-behavioural

(c)

20A/371

revolution in political science? How is it
different from behavioural revolution?

' 3+7=10
e Reme wreRemes Rew Pra &
o1 7 SIBIR Rerd o1 3 Re w7
Or / 931

Analyze the behavioural approach to the
study of political science. What are the
important criticisms put forward by
post-behavioural revolution against

behavioural approach? 10

- e ReEm S Ss3Rm Res Sigesay

41 | ABIRRTSE SM62M 0G1 Revem R 1
@GP TCAOAT SARGLR ?

What do you mean by liberalismp?
Explain the basic tenets of liberalism.

S+5=10
erEeRm Pl BT TReRMR -
ST IR F

Or/ |11

Write a critical note on Gandhian
perspective on State. 10

L AR GRAR G FACEACARES Gl
foran |

( Continued )

()

(3)

What is ideology? Discuss the role of
ideology in social change. 3+7=10

o 2 e ofRedTe wrefe SR
SCEATS 37 |

Or / €1

What is Marxism? Examine critically the
Marxain ideology. . 10

w7 TRRME SWETeTER @R
SIS |

2. Write short notes on any four of the

following :

5x4=20

wore PR R e siRoR evRS oY Rt fors -

(@)

(b)

(¢
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Impact of globalization
R oo

Drawbacks of traditional approaches
ARG ST HCTRIZTR

Classical liberalism
ol STRORM
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(4) - (5)

(d) Sources of power (d) Name two advocates of Marxism.
AR ST A Y& 2 e 7= o

(e) Mention two important features of
neo-liberal State.

T-SrEeRw A3 ol wFerd e ey

(e) Relationship between Authority and
Legitimacy

TEY AT (I4SA o o

ESIN
() Historical materialism (f) Write two agreements in favour of
- pluralist theory of sovereignty.
ARCOINg] T2 SGER FCH 701 e o< |
3. Answer very briefly (any five) : 2%5=10 (g) Write on structural legitimacy.
=% 59 e i (R e stiotr) - afiss Cauer o B |
(@) Mention two techniques of ‘Satyagraha’. 4. Answer the following as directed : 1x10=10
STeNerR’q o1 el Srad w4 | weTe RN FotrgiEt Ted fm
(a) Who is the author of the book titled
(b) Mention two types of authority. Leviathan?
Wo! AFRE THTI A a4 | Leviathan TS 28478 14T & 2
. ol (b) Who is associated with the concept of
(c) Mention two principles of )
behaviouralism. Credo of Relevance™
S5 To! Ao Scard 1 | ‘o RapE W AR S wiee

AT (P 2
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(&)

() Who among the following is not a liberal

thinker?
oo a4 IO Pee e Srredint
o = 2

() John Locke / & &1F
i) J. S. Mill / 5. @, f=
(iiij) Antonio Gramsci / @%’F=’ amfe

(iv) F. A. Hayek / @%. Q. 3335 -

( Choose the correct answer )

(o= Tawh! AR e ) |

{d) Who among the following regard the
State as an exploitative machinery?

TS Ty T4 P YRR BT GF IR
wiken g SRS F3 2

() Classical liberals / @ S
(i) Modern liberals / Sy Taaf
(iii) Neo-liberals / 7Rj-SwM

(iv) Marxists / WA

( Choose the correct answer )

( o7 Teachr a1k Sfersar )
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(e)

20A/371

(7)

Who among the following defines
.politics as the authoritative allocation of

values? .
wore SErd T (e BRIk ST Jorw
ggrem e R I wfele g2

() Aristotle / aRE’5

(ii) Plato / caicht

(iii) David Easton / (ef$s 385
(iv) Machiavelli / iRFasSHt

( Choose the correct answer )
(% Tawch TR S )
Who propounded the theory of
distributive justice?
@RI T RGN sk
R ?
(i) John Rawls /&7 T
(ii) Plato / (ool
(iii) B. R. Ambedkar / R. SR, ScR
(iv) J. S. Mill / (8. ¢b. =

( Choose the correct answer )

( % Tech AR Sferean )
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(8)

(g9 'Who coined the term ‘politics’?

‘aiﬁﬁ-‘»’ Ol AW @A I
FREA?

(h) Who authored the book, The Power
Elite?

The Power Elite 88449 (14T (I ?

(i) Who viewed State as a ‘soulless
machine’?

BT SR 77 @I m ffew 2

() According to which theory State had
emerged as a result of consent?

CH ©g SR 31 sTafed fefee R (= ?

* %ok
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